Double fold (Eq. 3)

Fold—Hopf (Eq. 4)

Hopf—fold (Eq. 5)

Double Hopf (Eq. 6)
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Coupling

y =0.48x y=—-0.140.12x y =0.05+0.5x y =—0.05+2x
Following system

ye = £0.54 (fold) ye = 0 (Hopf) ye = £0.38 (fold) ye = 0 (Hopf)
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Oscillatory for

Bistable for

Oscillatory for

|V|</?;f’% y>0 |V|</?if% y>0

(ifby <0,by >0) @ifbicy < 0) (ifc1 <0,cp0 >0) (if c1dy < 0)
Parameters

a; =-0.5 a;=-—1 a1 =0.05;a, =1 a1 =0.04;ap, =2
ay=0.5 ap =1 b1 =-0.050p=1 by =-0.04;by=2
by =-05 by=by= cp=-—1 c1=04;cp=1
br=1.0 cg=—lcp= =1 di=-04;dr, =1




